
PMDB-52000-B

Key Number/Item Description/Quantity/Part Number

1
2
3
4
5
6
7
8
9
10
11

54” Brush 
27” Channel
End Angle
Center Angle
Draw Bar
Draw Bar Bearing Pin     
Hair Pin
5/16 X 2” Eye Bolt
5/16 X 1-1/2” Carriage Bolt
5/16” Flat Washer
5/16” Hex Nut

52013
52014
52015
52016
52003
52004
52007
52008
52009
52010
52012

2
4
2
2
1
2
2
4
4
8
8

1

2

3

9

10

8

4

6

7

5

11

DRAG BRUSH
52000

6620 Nordic Drive
Cedar Falls, Iowa  50613  USA
Phone: 319.266.2638
Fax: 319.266.9627


